Why is the development gap increasing?
The development gap is the socio-economic and political division that separates the rich developed countries and the poorer developing countries. The development gap is caused by a complex interplay of factors and, consequently, has no specific answer to remedy or ameliorate the chasm that separates groups of countries; Causation is a combination of demographic, environmental, political and cultural factors. Having these different approaches to explain why the gap is increasing will be difficult due to these engaging topics. In the current climate the development gap is substantial in size. For instance, 1.3 billion people live on less than $1 a day around the world and that it would only cost $6 billion to educate the world to primary school standard; yet $50 billion is spent on cigarettes in Europe per year. (Uses data to illustrate point/ie the scale of the problem) 
The increasing development gap has many complex interplaying reasons, one of a range of factors is international aid. Aid is assistance or support by means of skills, materials and/or money between two countries; it has both negative and positive impacts. By a country receiving aid, it can begin to enter a vicious circle, or cycle of poverty, of which it can become dependent on aid. For example, Nicaragua in Central America became unable to feed itself after the injection of America food aid after the devastating series of Hurricanes in the late 1990’s. Emergency food aid is paradoxically a double edged sword.  Arguably, this not only damages the country economically, it also strips the countries power in being able to move higher up in the development pathway. In return, this would increase the development gap between the donors and recipients as the donor country would progress and the recipient would be trapped in a recovery cycle.
However, we cannot, or should not over generalize and say that all aid is bad. When in fact some aid does help countries in need get out of a crisis scenario, such as the provision of humanitarian aid in the form of emergency shelters in the recent Sumatran Earthquake in September 2009. However, many aid grants come with strings attached. An example of an agreement that comes with the aid would be the donor countries then get a comment in the countries policies. This places a hold over the country which can further stunt the growth of the economy. As a result, this further increases the development gap. Oxfam says that aid does more good than bad. They say that for every £1 donated, £2 is paid back to the donor. This shows that both countries may have mutual benefits. 
This still does not explain the theory behind the development gap. One explanation of the widening of the development gap is called Rostow’s model of economic development. The model shows that a country has to pass through different stages of economic development to reach a developed status. These stages were fixed and had layers, such as the federal system. There were factors that were not included in these stages such as rates of population growth and political changes which are huge factors of development. It explains why there is an increasing development gap, ie some regions are trapped in the early stages of development , such as sub-Saharan African countries like Niger and Chad.  While others, for example, the USA and the BRIC’s, are at the top of the model; they are the most developed. This theory focused mainly on countries being able to develop through stages that involved the economy and society transforming itself as it drove towards a mature capitalist state and did not take into account the negative cycles that can impede development. 
This theory, un question, is the poverty cycle which focuses more on the underdeveloped countries which get trapped in a positive feedback loop. Countries get trapped in these poverty cycles for a range of reasons often underpinned by a lack of capital. Although this theory does account for socio-economic and political factors, it assumes the country is isolated and has no global interactions such as aid or Overseas Direct Investment through the emergence of TNC branch plants eg Botswana’s rapid extrication from poverty has come hand in hand with its increasing ability to use foreign investment to exploit its wealth of natural resources. Many countries have proved these poverty cycles wrong such as the rapid emergence of India and South Korea. 
Global players such as large TNCs or other big players in international trade like the world trade organization (WTO) can impact the development gap. Some TNCs are so large that they can match a countries wealth. TNCs are continually trying to develop so that their share holders can make a profit. As TNCs develop, they offer economic opportunities to developing countries for example, obtaining resources or finding new assets (see point above about Botswana). A direct economic impact of a TNC is dependency. Countries may become dependent on investment made by some TNCs in the host country. Therefore, if the TNC was to move somewhere else, that country would be heavily impacted economically. This is potentially a negative impact on the country, as they always under threat. BP, based in the UK, is 4th ranked by the top 100 TNCs. 
There are many organizations which try to reduce the size of the development gap. One organization which works towards reducing the gap is the world trade organization. It promotes trade between the rich developed countries and the developing countries which offer developing countries economic gain. Another organization is named the international monetary fund. The organization provides investment so that is can improve the standards of economies. Their approach to investment is seen as a top down. Other non government organizations include Unicef and Oxfam. They help raise awareness of global differences and help to provide good aid and to assist developing countries.  The role of the UN is also significant (brief synopsis of MDG-and evaluation of stumbling blocks eg Education critical/progress re role of women hitting the buffers-failure to impact on much of Sub Saharan Africa.

Trade patterns are another factor to count as to the reasoning of why the development gap is increasing. In general, increasing the number of exports a country does will narrow the development gap. For example, Africa’s international export value was $250 billion in 2005. While western Europe had an export value of $3000 billion in 2005. This shows what part of the development gap is but also can explain why the gap is increasing; countries are not able to export enough goods to generate income. Arguably, rich countries set the price of the values which are imported to them. Therefore, they are able to dominate and dictate to other poorer countries.  
An example of this is the coffee industry. Ethiopia, Africa, is said to be the birthplace of coffee production. It is the largest exporter in Africa of which 15 million people depend on the income the trade produces (67% of Ethiopia’s trade is coffee).  This is where we can see how the development gap is increasing. The rich countries such as USA buy coffee from them, for a very low price. This leaves the USA with the profits while the coffee producers receive next to nothing for their work. This shows how USA has a tight grasp on coffee producers, of which they can easily exploit. Africa’s share of the world trade is 1%, if this raised to just 2%, it would be the 5 times the amount that Africa receives in aid a year. As discussed earlier, this economic boom would boost Africa along Rostow’s model of development, therefore, would reduce the development gap. 
Overall, the development gap has many more reasons of cause of the increase. However, these are just a few examples which influence the gap. Such as, trade patterns, international aid and global players such as TNC’s. There are also models to explain the gap like Rostow’s development model. The gap is generally caused by rich countries being able to exploit the poorer countries as they have the dominant political power to be able to do so. As a result, the poorer countries suffer from lack of resources and spiral into poverty cycles which widen the development gap. Perhaps in the future………..we need to recognize……we must as consumers…….
